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PART -1/ wr-1

CHILD DEVELOPMENT AND PEDAGOGY / &Te fasrd &
oy - e e e g FrewiealET gt

Directiong & Answer e folfowing questions
(0. Nox. I to 30) by selecting the most
amrrorriaie opfions.

Learning is an active process becaise ;

{1} leaming takes place when there is
some informalion Even o the
leamer.

{2) leaming refers to memorization
and an active change in one's
hehaviour.

(3)  knowledge is constructed by the
leamer by acting upon it,

(4} leaming is govemed primarily by
biological faciors. -

In the context of students’ readiness to

learn it is important for the teacher to :

{1) pgauge the motivation of siudents
to learn.

(2) apply ‘Law of Readiness' to the
sindents. .

(3) assess the general knowledge of
students.

students”  previous

(4) disregard
learnings.

In an effective clnssroom :

(1) the students are in competition
with one another to score more

marks.
(2) the teacher prepares a lesson,
presents it as a lecture and

dizcourages discussion.

{3) the teacher encourages discussion
and makes connections with the
students’ previous knowledge and
background.

{4) the students passively follow the
directions of the teacher,
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Children  develop  interest  in the

clazsroom when :

{1} the teacher [avours only pood
studenis.

{(Z) the teacher cncourages and
appreciates  each student (o
parlicipste,

(1) they sit in the big classrooms with
their Fends,

(4)  they don’t get homework.

As children enter the school

they should be told that the school
has a different language and they
should not speak in their mother
tongue at all.

(1)

their parents should be told to use
only the language of the schoal at
home,

they should be allowed to speak in
their mother fongue because
expression is important,

(2)

(3)

they should be fined for not
speaking in the language of the

(4

school.

Which one of the following best
describes a teacher’s role 7

(1) The teacher should  focus
primarily on the knowledge given
in the textbook.

(2) The teacher should maintain her
records diligently.

(3)  The general attitude of the teacher

should be to promote a feeling of
security among the children.

The teacher should encourage
competition among children o
prepare them for social world.

(4)
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9.

How cam the teacher promote
problem  solving skills [n  the
students 7

(1) By making ese of chalk and board
method in her teaching,

(2} By providing students with
diverse materials and encouraging
them to explore their materials.

(3) By giving them continuous
practice questions and laying
stress oo drill only.

{4) By promoting diseipline among
her students.

Children formulate their own
strategies for learning, In this context,

a teacher ;

(1) needs to discard children’s
strategies and transact the lesson
she has planned.

{(2)  neceds to understand the children’s
stratepies and discuss and have a
dialogue with children.

{3) should give the children a long
lecture asking them not to do so.

{(4) should motivate the children to
sirictly follow the procedures
listed in the texthook.

Which one of these factors plays a

very imporiant role in learning ?

(1) Genetic make-up alone

(2)  Physical infrastructure

(3) Social contex! and emotions

(4) Maturation and physical
appearance
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11.

13,

*Early childhood® refers to the period
from :

(19 21w 8 years

(2) 61012 years

(3) binhio 5 years

{4}  hirth to B years

Knowing abont principles of growth

and development is important for o

teacher hecause §

(1) this knowledge would help the
teacher to sepregate the children.

(2} the teacher would be able lo create
a goodd impression.

(3) this knowledge would help the
teacher to provide the children

with appropriale learning
opporiunities.,
(4) this  would make, Child

Development a popular course.

A Child"s development is the result of :

(1) upbringing

(2) a combination of heredity and
environment

(3) Theredity

(4) environment

Children :

(1) are bom unmly and need to be
civilized by the society.

(2) arc a gift of God meant to be
waorshipped.

{3) are influenced by the social and
cultural context they grow up in.

(4) come into this world with a blank
slate.
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15,

16,

17.

18.

A 5 year old child fails to reason that
when water is (ransferred from a tall
and narrow glass to o wilde container
the quantity of water remains the
same. This Is_l:mu:m -

(n
(2}
(3)
(4)

she cannot symbolize,

she cannod imitate.

she connot reverse her thinking.
her behaviour is not goal-dirccted.

While riding a bicyele a boy prompis
his sister — “Drive fast | We will reach
there carlier™ MHe is showing an
understanding of :

(1) Symbelic thought

(2)  Egocentric thinking

(3} Cause and effeet

(4)  Reversible thinking

The process of adjusting, deleting
schemas and forming new schemas fo
maintain equilibrium is called :

(1
(2)
{3)
(4)

Zone of proximal development
Scaffolding

Adaptation

Schema formation

The term, “Private Specch™ was first
used by :

(1) Kohlberg

(2} Vygotsky

(3}  Erckson

(4) Piaget

Accoriling to Vygotsky, children learn

a lot through their peers,

(1)
(2)
(3)
(4)

physical fighting with
imitation of
interaction with

competition with
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19,

2.

21.

22,

Kohlberg's idea of moral development
las levels.

(13 three

12y four

(3 two

(4)  eight

Learner-centred approach is one in
which :

(1) leamers are  rewarded
punished for their responses.,

(2) the  teacher  focuses  on
memorizing of facts,

and

(3} leamers with the teacher's
guidanee are made responstble for
constmeting their own
understanding.

(4)  learners are left free to leam on

their own.

Intelligence inchudes :

(1)  the capacity of an individual to
produce novelforiginal answers 0
problems.

(2} the ability to produce a single
response 1o a specific question.

(3)  a set of capabilities that allows an
individual 1o leam.

(4) a permanent change in behaviour

as a result of experience.

“The Importance of communication
with others as a major factor in the
development of a child’s language” is
expressed by :

(1) Bandura
{2) Vygotsky
{3) HKohlberg
(4) Freud
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23, WM a teacher thinks that girls need 1o
be given a different tvpe of eduocation
which would help them become oo
wives aml  mothers, this type of
thinking :

(1} challenges the social attitude
fowards girls,

(2} shows that teachers cannot and
should not try to change the social
perceplion.

(3)  is beneficial to the girls and would
help them to perform their roles
assigned by the society in a better
way.

(4)  promotes gender bias and restricts
the potential of the girls,

24.  Assessment should focus on :

(1)  inereasing competition arnonge
children.

{2} reducing the teacher's waork.
(3} furthering learning,
(4} labelling children,

Children with special needs should be :

(1) given no cducation at all.
{Z)  given only vocational training.

(3) segregated and put in separate
institutions.

(4) included in ‘regular’ set-ups with
special provisions.

To deal with diversity in her
classroom a teacher needs to ;
(1) disregard the social context of the
students.
(2)  judge the students on the basis of
their physical appearance.
(3) be sensitive to the social and
cultural context of the students,
(4} give uniform instructions and
disregard individual differences.
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28,

29.

an.

[ow would you identify a child with
learning disalility ?

(1) by administering intelligence tests
physical

(2 by {heir

appedranog

secing

(1) by looking at their note books for
wriling
(41 by observing how much they fight

with other children

A creative child has the following
characteristic ;

(1} rigid in approach to problem-
solving

121 ability to role memorize

(3} conformity to the given rules and
NoOrms

(4)  original thought and expression

Creativity includes the ability to

{1}  copy and imitate others.

{2)  do divergent thinking.

(3} rote memorize long passages and
sequences of numbers,

{4)  do convergent thinking.

When & child's capability in any
particular area of development is low,

it :

(1) does not influence her owverall
development.

i2)  does not mean delay in any arca
of development.

(3) has an impacl on all areas of
development.

(4)  has no effect on the child.
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MATIEMATICS / WO

fpecifon = Anvwer e Jellawing guesiions by
sefeeting the corvect/mast approprioe T
3. It is often foumed that learners af
primary level experience difficulty in
comprehending word problems, This
problem can be best addressed by
(1} introducing  word prohlems  in
mother tongue as well
(2} giving a lot of word problems for
practice.
{3)  eliminating word problems from
the primary
Curriculum,

Mathematics

(4) asking learmers to look inio
dictionary for meanings.

32. A teacher of Class [IIl gives the
following word problem on
“subtraction™ to the class ;

*A crate can have 50 bottles. 20 bottles
are already in it. How many more
bottles can be put into the crate 77
This tvpe of word problem belongs to
which one of the following categories ?
{1} Comparison

{2} Complementary addition

{3) Partihon

(4) Reduction

Wﬁqﬁrwﬁﬁmﬂ.

Priyr ; e EE
e B o g e
:mmtﬁ;gmﬁrmﬁ?w
3. mﬂﬁgﬂmﬁﬂ?“ﬂﬂmﬁ
wfoeré e & 1§ T F R
ey 7 TR €
0 Wgﬁﬁwﬁiﬂﬂﬁﬁ
Cock: il
i m#hﬂqﬁaﬁﬁ?ﬁﬁﬁ
ot A A |
1) mﬁqﬁwﬂtﬂfﬂrﬂﬂ?ﬂﬁﬁﬂﬂﬁ
i v =t P 21 H
(4) famﬁﬁﬂﬁ‘eﬁﬁiﬂﬂifﬁq
ST S T H ] B |

o7 111 % 3ETTes A HEA T S uy
foyer oz Wy T

ey R ¥ 50 AR AT Webell § | I
weE @ #1 20 AR E | 59 a9 | e
A i e T A

I9 W 1 Milesw w9 Felotas 9 9
i it & Hafie € 7

(1) &
(2) =T = e
(3) T

(4) g

3z,

SPACE FOR ROUGH WORK / 7% & & fére s

Scanned by CamScanner



Pl
L

34,

While working on fractions, a studdent

of elass V, daes the question as follows
-
&

Az a teacher, which one of the

following strategies would be most

appropriate to follow 7

(1) explain the emor by using a

fraction kit or paper folding
(2% ask the student to do the same
question 10 times so thay he'she

will not repear the mistake

(3 tell the algorithm for subtraction

of fractions

(4)  eive more questions for practice
Which one of the following is the best

respurce to compare the areas of two

leaves in Class v 7

(1) Geo board
(2) Graph paper
(3) Scale

(4) Thread
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36.

Which one of the following is an
important aspect of mcasurement of

lenpgih

(1) Using non-standard measures
2)  Iteralion
(3)  Conservation of length

(4)  Ability 1o use scale

It has been found that *Games’ help in
understanding mathematical concepis

at primary level, as “Games’ :
(1) break monotony in the class,
(2)  help in class management.
provide fun to the children.

(3)

(4) provide an opportunity for

extension of concepts.

i
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37. A good MNathematics f(extbook ot

primary Pevel should :

{1y have a lot of cxerises for

proctice,
(2}  have colourful illustrations.

(3} present a It of worked oul
examples.

(4) relate Mathematical concepls to
everyday life of the child.

38. A 7 year old boy recognises all four
sided regular fizures as sguares.
According to Van Hiele's, he is at
which stage of Geometrieal thinking 7
(1) Level 4-Deduction
{2) Level 3-informal deduction
(3) Level 2-Analysis

(4) Level 1-Visualization
39, ‘The concept of ‘zero’ can be

introduced best through which one of

the following operations 7
(1)  Multiplication

(2) Division
(3) Addition

(4)  Subtraction

(1m

;.

38,
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e ﬁﬁﬁyﬂ A H Wt
u (14) W = a7 ;-
40.  Which one of the following is not part 40. il 7
of Mathematies curriculum  at T :
primary stage ¥
(1 -{qﬂﬁlﬁ‘[
(1) Symmetry
BEEEA
(2) Decimals @
. aﬁ?ﬁ'ﬁ =l wEHA
{3)  Data handling (3
(4) Ratio and Proportion (4) 5 3R

§ii mIﬂ;aaﬁﬁﬂﬁﬁﬁWTﬁﬁl

41.  Which one of the following is most
appropriate  to  assess children's L] ﬂwmﬁﬁmmﬁm
understanding  of  Mathematical i 4 e A I E 2
concepts in Class 1 7

(1) vt
(1) Observation
(2) fefiam wdien
(2)  Written tests
(3) Oraltest (3) i
(4) wrwEs

{4) Work sheets

SPACE FOR ROUGH WORK / % T % forw i
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42,

43,

Iorinnn = LRT{T TR

L)
tewr the womber whileh eomes I the

bhank spee bins

iy 127
(2] 124
I ET
() 123

IT {the place value of 6 in 16470) = (the
place value of & jn 7605) = 6 = .

then the nomber w hich comes in blank

space iy :
(1) B
(2) N
{3) 600
(4) 700

(15}

'Il-l

43,

af o) 2 00 - g - T

¥, o Tt wara AL FAG

iy 129
iy 129
N 12
(4) 123

af (16470 6 6 %1 2T o) - (7605 J

6 T FATHT W) = 6 % 7, fem

(1) &0
(2} 900
(3) 600
4y Tnn

SPACE FOR ROUGH WORK / T% T4 % fea v
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44.

45.

Ir the sum of common positive factors of
56 and 84 = 400 - 43 » » then the

number which comes in blank space is :

If the sum of remainders, obtained on
dividing 32456 by 24 and 46951 by 83,
is divided by 16, then the remainder

will be :
) 4
{2y 8
(3) 0

(4) 1

45,

afir 56 mﬁfﬂﬂ*“{fmwh
SO ot L
Faen B

gy 9

@ 8

@3 %

(@ 3

afr 32456 1 24 I TTTET 4695
i} §3 & T EA T W I & A
16 7 w7 foran AT, T TS B

(m 4
(2) B8
(3) 0

) 1

SPACE FOR ROUGH WORK / % %4 % ferg wre
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-1

. (The smallest common multiple of 16,
24 and 36) + (the largest comman
Factor of 16, 24 and 36) i cqual to :

(1y _Jg
(23 48
(3 G
4 24

47. Nishue has siy and a haell doxen

- ' 1
chocolates. She puve E of these to

1
Ravi, E of these to Rahul and one

half of these to her other friends. The

number of choeolates left with her is:

(1 27
(1) 32
(3) 20
(4) 20

48, 1 150nes+ 15 thousands + tens
= 16165, then the pumber in the blank

spiace is:

(1) 63
(y 112
3 13
(4) 30

Scanned by CamScanner
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46. (16, 24 ftr 16 T TR T BEIRET) +

(16, 24 it 36 1 T w1 A IAEE)
Eﬂ'ﬁT% ;

() 3

(2) 48

(1) 16

(4) 24

%mmﬁﬁ.fqﬂ%“ﬂ@

T ST ST S WE st Foll W
T \ s v =t ] e
(n 2

2y 3

(33 20




——_—

u ;
49, A drum contains 174 litres and R

millilitres of oil. This off is fillcd inle
37 containers each of equal size. How

piueh is the oil in 18 snch containers ¥
(1) WS litres

() D98 |itres
(3} 96,3 lires

(41 98.1 litres

L3
Sfl.  On a map, a length of : centimetre

represenis a distance of 240 km on the
around, What length on the map will
represent o distance of two citics

which are 1120 km apart on the

eround !

(1) 6 centimetres

(2) B centimelres
(3)  Threeand a half centimetres

(4) Fourand a half centimetres

(18)
49

I T E—

P
foelt 1 ¥ 174ﬁa'r:'fm‘i1'4imﬁﬁtf%:z¢
#ﬁﬁuwﬁ?’“ﬂwﬁwtnm
ﬁ-;,:m"mﬁ'f% Iﬁ‘ﬂlg'ﬁﬁ?ﬁﬁﬁﬁmm
e Em

“;' ﬂ’*}j '-E &

(2) gy, § fEred

(1) op.3 #ET

(4) 98,1 T

o e e . e o

w240 Frsidiey Wi g0 Wt TR F
& |y vl ar AT 1120 FREEERT %

ot e Feaet 2, A g S O IR
w2

(1) 6¥8dRT
(2) &R
(3) W T HeeRT
(4)  a = ddey

Scanned by CamScanner
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b ]
1=

P-1
5l.

Which one of the following is not
correct 7

(1 One gram is one-hundredth of one
ki]f‘-gr.:m.

- o , -
-0 Voe mallimetre is one-tenth of one

centimetre,

(131 One lakh is equal to a hundred

thousand,

(41 One hundredth of a crore is equal

oone lakh.

The internal length and breadth of a

cuboidal store are 16 m and 13 m
respectively and its height is 11 m.
There is another cubical store whose
internal length, breadth and height
are 8 m each. How many total cubical
boxes each of side one metre can be
placed in these two stores to a height

of 7 metres ?

(1) 2288
(y 2300
(B 1904
(4) 1968

(149}

51.

53,

(1

&S ernnnoin

U

Forey ¥ ¥ v oot ol = Y

U WE T W O U TR

ki

(27  uw faeinier ve ddnier W O
L6

(3) T A T & O ) A

(4) U WS A ST O A
= |

Fedl TATARET T W NS e ST

e e 16 et 3 13 Hew § W

Tt S 11 Hie ¥ | TR O HATER
w & el it &g, e sl
Sk e 8 e & | e e e AW
ot Tt TR EE TR ST R W
7 Wiret S T Tl W

(1) 2288

(2) 2800
(3) 1904

(4) 1968

SPACE FOR ROUGH WORK / T% T4 % Telu w1e
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&S ernnnoin

_ P.q
U (200 m*ﬁﬁ?%aﬁﬂ s
53. Therc are two picces of wire each of 5. Eﬁﬂ ﬁaﬁmmt
length 272 cm. Using one piece, a et | L ‘ﬂ'FI'I*' At i
square is formed and using the other AT '@!ﬁ"‘ﬁ Lid X 15 S
picce, a rectangle is formed. IT the side o @ Fmae =l <fteTs
of the square is 1% cm more than the H‘ﬁ*mﬁﬁﬂﬁ e (27 W)
sl T, ;
width of the rectangle, then the
differenee in their areas (in sqnare i
cm)is : [*] ) 254
(L 254
72
() 272 (@ 2
(3 224, (3) 224
4y 324 4 324
ATHEEAEAE?
54. Which one of the lollowing is true 7 54. ﬁqﬁ#iﬁq "
(1)  The number of seconds in & hours 6 g4 7 A w g 12 feoii 4
is equal to the number of minutes & o
in 12 days. ' '
(2) The number of minutes in 15 days @ 15 fe i firel = e 8 U #
is equal to the number of scconds .
, et W HE S ET |
in & hours.
(3)  The number of minutes in 10 days Gy 10 et B B o e -
is equal to the number of seconds i B
, : - WehEl W HET S A |
in 6 days.
(4) The number of seconds in 72 hours @) 2 9F F ¥ o der 5 B A
is equal to the number of minutes ey
T el =t s & s k|
in 5 days.
SPACE FOR ROUGH WORK /7% &4 & fow wre
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Pl |
(1)
55. When fresh fish is dried it loses 55, wE wrn vl w) s s b ?ﬁru
;:':'t:"';i oF its weight. Reshima buys T B R v e w e & LS
1 g o 1
g resh fish at the rate of oed Femumh r s Sl =T a
25 per kg, She sells them, when wiid ¥ 1 = wofemd w1 gt =%
dried, at T 1055 per ko, She carns n ; :
- T 108.5 Wi e & ¥R & | Tt W
profit of :
IR
(1) T 34828
(1) 734828
(2) T 45582
(2) 745582
3 TI10111.5
(3) 3 (3} TI011L3
(4) T 107535 (4) 2107535
56. John travelled a distance by a train . me{ﬁiﬂ i
for onc hour 20 minutes at the speed T 1w W g e 20 e,
of 60 km per hour, then by a bus for Wﬁﬂ =w g 50 Tl Wi He -
54 minutes at the speed of 50 km per % 54 forre ot wern v 15 o
hour and then by a boat for one hour ufi sier =) T § O Her 36 fire H
16 minutes at the speed of 15 km Pﬂ-_ 2 | IR A E A 9
hour. Total distance travelled by him
(1) 149 %0
WAS ;
(1) 149 km @) A
2) 154 km (3) 104 Feerl
(3) 104 km (4) 125
(4y 125km —

SPACE FOR ROUGH WORK / T % % fe7g 71E
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58.

A bencher B oengaglig  leariers  on
togele, *Mumbers® Inoclass L Which ane
af thie Tallwling is most apprapriale
fulluw el the

apippraareli b B Iy

leneher

Bumemls abould  be  ipteoduee:d

i)
el el i,

(2)  leamers should [ praclise
swritionge nuimerals,

(3)  Numerals shoukl be inirsduced

along with number nmes,

Mumerals should be jntroduesd

{4)

only  aler  the  learpers  have

expericnce with counting,

Which onc of the following is an

aspect of “number sense™ 7

22)

57.

S8,

&S ernnnoin

B
o, et | i Tt
g ST
I i £r E‘ T L
i ; g A 5T
sqjogyr Feamie M
. Py
i g at fa T

orey O AU FLE &

B

(1) 3 W ey TR AR feer
pren wim |

i) fopearterat 16 sja; G W
et AT A o

(3) I it 4 ST AT Wy
Fieagr T = |

(4) &E H wfrem Aol e A e,

s ot i IO A A

m Rl

Frefafis § B WELAT YHEAT T w5

e e i

(1)  Skip counting (1) SIEos F TUE &
{2} One-to-one correspondence (2) TR HiiA

3)  Writing numerals (3) & FEET

(4) Seration (4) iETEEm

SPACE FOR ROUGH WORK / T% &4 &% far wrore
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P-1
g9,  Which one of the following is s

suitable to explpin *1 + -!- = 1* fn

studdents of clnsg [y o

(1} Using beads and strings
{2}  Using a peoboard
{3} Using paper folding

(4)  Explaining algorithm

60. A Class Il student reads 203 as twenty

three. As a teacher, which one of the
following activities would yvou do so

that the student realises her error ¥

(1) Writing Numbers in Numeral
form
(2)  Drill and practise worksheets

(3) Uﬂing.l:reads and strings

(4) Reading Number Chart

(23}

5%.

i,

u
T 1Y BT W 1+ 15 = 1 T

forr for=afafiae o =t we o wios sogEa
L

(1) el 3T TR = W = |
(2y Tt = wir &= 0
(3) 0T & HiEwt TR |

(4) - T |

w11 1 ue Rl 203 S TR
) TF gwwwm TH OF W WM
Frfatas # § w-m Heammen w7,
AR 39 ST TIET1 S S E w2

(1) e = dee e e

(2) e R PgE ST S S
(3) L ST S W

(4) eI & A |

SPACE FOR ROUGH WORK / 7% %4 % fau e
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PART — (4P - 1 g :
ENVIRONMENTAL STUDIES / gy el
P L
d FaT e |

Direcrtons @ Ansnwr the folfoniing gresiioes i

SefToTit e RS el T e AT,

fil.  Read the following question cavefully
How are the monkeyvs that dance 1o
entertain  peaple, different Trom  (he

mankevs that are free ¥
What is being asscssed throngh this

item 7

(11 Experimentation
{2y  Co-operation
(3}  Observation

(4) Dizcussion

62. A teacher, maintains record of o child’s
progress on a day-to-day basis and also
keeps  the observational narrative
records of significant incidents in his
life. The above activity is used as a/an :
{1}  Rating scale
(2) Checklist
(3) Porntfolio
(4)  Anecdotal record

63.  Which one of the following questions on
‘birds and their beaks' would best give
the child an opportunity te argue and
analyse 7
(1) Why do birds have differently
shaped beaks 7

(2) Name a bird and describe its beak
and explain how the shape of its
beak is related to its food hahit,

(3)  The beak of a bird is long, straight

and pointed with sharp edges.
What kind of food would it eat ?
{4)  Describe the beak of a parrot,

Scanned by CamScanner
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6.

arega

e fomere e wedt & Wreret w1 wfa
=1 =T TET & T I st § gien
m@mﬁﬁraﬂhmarﬁHEaﬂ
yﬁam%:mﬂaﬂﬁmﬂmm
FATE:

(1y e Frabror g & fag

(2) it gt & e

(3) et & foo

(4) SUREFTCTER AHEE %

‘vEll A TR W oW amafe
Feffam 4 & sha e =i ot o
3 aiiv feyeter 527 @1 srarmy e wd
=l gied wdsa i v ;
(1) o o8 w3 o e
Biett & 7
@) o el = T fefian, swe e
T Y i e e
I W AR IE W
3) Fﬂ?‘:ﬁﬁﬁyﬁl
o W WA o, wh oo
R forrds R i 1 @
hmﬁ‘ﬁﬁ?ﬁl‘ﬁ?



b,

et
o

- (25)
= .
A clas encher provides her it

with & Neem leal and n Mango leaf and
asks them to state in whick way they
are similar 1o and different from ench
other. Which one of the Tollowing
process skills will be used ip nswering
this question 7

(1) Hypothesizing
(2)  Predicting
(31 Observing
(4) Measuring

Mecta always asks her students some
open-ended questions in an EVS class.
Her main objective could be developing

students” :

(19 convergent thinking,

(2) listening skills.
{3) creative thinking.
(4) speaking skills.

The present syllabus of Environmental

is woven around some

themes. Which one of the

Studies

common
following is not included in the list of

themes ?

(1) Water
(2) Air

(3) Food
(4) Shelter

u

64, e v = Toiiwst srer Tenilgat w1 =

Scanned by CamScanner
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66.

ﬂﬁqﬁtﬂﬂ?mﬂﬂﬁrﬁmﬁﬂmﬁl
%mﬁﬂﬂlﬂﬁimﬂ?ﬁ%ﬁﬂ
ﬁiﬂﬂﬂ%#mﬁ%ﬁfﬁaﬂﬂ?ﬁ
qree firer § 1 g e 7 o AR
P # @ W T R
T B Y

(1) e T

(2) FEE A
(3} FEEE
(4) W

e T e ST T EE H
sy vl & vyt ater TSt S R
t imqmaimﬁm%ﬁmﬁaﬁ
# e S

(1) ] F

(2) G W

(3) G

(4) e HEE HEE

ey G W A UEHRE §9
w et & R O T
Rt & & AT GE T
1?2
(1)
(2)
(3)
(4)

e
Eml
e
EEIC



L

&7,

4.

69,

Which one of the follwing statenients on
EVS is In accordance with NCF-2005 ©?
{1}y EVE (o be ekt as EVS
(Scicnce) and EVS  (Social
Science) inelasses [ o V
(2) EVS w be tausht a3 EVS
(Science]  amd  EWS {Social
Science) m classes [ and 11 bul o=
0 composite arca of study  in
classes [l e W
{3} EVS to be taught as a composite
ares ol sludy inclasses | o V
(4) EVS 1o be taught as a composile
arc of alidy in classes | and 11 bt
as EVS (Science) and EVS: (Social
Science) in classes o V
A teacher organizes a group discussion on
the topic, “Saving Water™ in class V. The
purpose of organizing this discussion is :
(A} to give an oppertunity to all
students (o speak.
(B) todevelop multiple perspectives.
(C) to mapage the class-room
cffectively,
(D) tojudge the students.
Which one of the following is correct T
(1) (A)only
2y  (A)and (D}
(3) (C)and (D) only
() (A)&(B)
*Observation’ and ‘Recording'
are indicators of assessment. Which
one of the following is the least

appropriate way for assessment of
these skills ¥

(1) organizing a survey of the
community.

(2)  conducting a paper-pencil fest.

(3) conducting activities in class-room

(4)  planning field visit to a nearby pﬂﬂr.

ocannea by Lamoscanner
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&7

.

69,

B
o apeEe B e | H OV H T

i3 B i
syemEeT B B B9 H g |
e | 3w 11 H

by sy Wl w11 A1
wm;wﬁﬁﬁ%mﬂﬁlﬁﬁ
I ® OV H W A
(Farrn) 3 o (Eia
Bergrer) 3 ¥  wEET A |

Fyrurer e -V H TR O O W

o e et & | 7 W

E ST A ST

{A) it frranteat w1 S =1 T
TR T |

(B Tl w T F

(C) TS At § SN T |

(D) Terenfert T St

et g a T &7

(1 = (A)

(2)  (A)FE(D)

(3) = (C) 7 (D)

(4) (A 7T (R)

‘FEE wa cafaeme  (fFeite)
T & dhaw § | Prehhes F @
W T T AT 0w
T T 7

(1) EFEH I HEw S e

(2) A W s e |

(3) =0 o nivaheE w5 g |

(4) wHim % 9 W &F wE & g
A



7.

1L

A class V teacher and her students each
grew a rajma plant in their respective
plots. Every two days they checked fits
ength and noted i, Afrer 3 weeks, all of
them depicted their resulis through

graphs. The process  skills  being
cophasised in this tasks are :

(1) Hypothesising and Inferring

(2} Predicting and Inferring

(3}  Calculating and Predicting

(#) Measuring and Communicating

Which one of the following will be
effective for transacting the concept in
class 57

“Some materials float and others sink

in water,”

{13  Through observation and
discussion

{2) Through observation, experimentation
anl inferencing,

(3) Through survey

{4) Through observation

Which one of the following cannof be
an indicator for assessment of EVS at

Primary Level ?

(13 Analysis

(2) Co-operation

{3) Concemn for justice
(4)  Retention

Scanned by CamScanner
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1.

T2,

u

el = w1 frfisT war s Ml
F sl wo v | ue T = O
T | B At i o ayEre o e e
st wa femeRt | 3 e T 3
it A 1wt ool w5t i & rem #
T |

vt wrd o frr wmwer iyl oF =9 T
T AT

(1) i e AR T

(2) vl S waT SEE T
(3) O ST e S S

(4) ST T s e

“Ew AT O § Aedl § Ud A S
ur H g, - W ST S

d Pl & & famdy G wvmEmTER
Rt W T vt 7

e St W % e

e, we 3 Frsw P & R

(1
{2)

(3} WEWT FERT

(4) T E

Fr=riafam & % SH i w7 W
TATERT AT 3 AR BT Hhers el
T Hw 7

(1
(2)
(3}
(4)

=g % firg wiw



u
23, Which one of the Tollowing is most

important for a monntaiieer th carry 7

(1) Sleeping bog
(2 Oxypeen kil
{(3) Bilankel
{4) Tarch

74. Which one of the following States [
Union Territories has a coast on the

Bay of Bengal ?

(1) Goa

{2) Gujarat

(3) Puducherry
(4} Kerala

75.  An example of a plant / tree whose
seeds travel from one place to another

by water is :
(1) wheat
(2) dates
(3) apple

(4

coconut

Scanned by CamScanner
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T3,

T4.

75.

=1
P 9 W T s g
1
(1y - R o
(2) et FRE
(1 [ = ()
(4y 2
ﬁﬁﬁlﬁﬂﬁﬁﬁfﬂ'ﬂ'{ﬁqwm
m@mmaﬁuﬁtﬂi‘!
(1) TiEr
(2) T
(3) I
(4) e
TREYE W UH I TAEe St 9

F ENT AT S U W W et e
T-Eiliiﬂﬁi'

(n

(2) @F
(3) ¥

(4) e



Pl
7o, Which ene of the following statcments

is truc about Sunceta Willinms ?

She s second  woman

astromaut of Indian origm,

(n the

{2} She iz tie second astronaul of

Indian origin.
(3)  She is the {irst woman astropaul.

{(4) She is the first woman astronaut

of Indian origin,

77. “Kahwa' is a special type of tea/
beverage. It is popuolarin :

(1) Kashmir
(2}  Karnataka
{3) Assam
(4)  West Bengal
78. In an area villagers make their

houses having very thick walls that

{29)

Th.

i

78.

u
Tt Referarn & s Frfoian o
ﬂi’lﬂ.mm'ﬂﬁ?.’,
() w8 undm 5= &t A e
mf_rlﬁa-'rmﬁ'ﬁw
(2)  WE wiEm 9w w5 T i O
A
HE WHE wigen sl s §
(4) =% wdm @ W wEw wfee
SR qUat # |

3}

TR U favw wmw W SRy ge
® g e v & el 1

-

(1) =m

(2) welew

(3)  #EF

(4)  uffEs sme

frt B A vt} & W sk ww
et & = & st g St wt Rt @

dioaai ol § 1 ou w1 el =
aeiell gnfeal # = € | W @ o ant
g w0 g & o el g e ¥ aw

are plastered with mud. The roofs
of the houses are made of thorny
bushes. In this area rain is very scarce
and it is very hot too. This area must be

L gt T 119§ B = 7
in:
1) ¥wETE
(1)  Jharkhand (h
(2) TeEE
(2)  Rajasthan
(3) IEWEE
(3)  Uttar Pradesh
(4) TR
{4) Bihar
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80.

Sweet potato is a root beemuse ;

(A} itis brown in colour,

(B) it prows
umdergrowmd,

under the soflf

(C) it has fibre like structures to
absorb water and minerals,

(D) it stores food,

Which one of the following is correct ?
(1) (1) and (C)

(2) {C)only

() (B)and (D)

(4}  (A)and (B)

Every bechive has one queen bee, a
few male bees and many worker hees.
Which of the following statement/
statements is‘are true 7

(i)  Worker bees fly around in search
of nectar.

{if) Male bees de not have any work
to do,

(iii) The queen bee lays egps.

{ivl Worker boees are female only.
(1) (). (i) and (ni)

(2) (), (i), (iii) and (iv)

(3) Oaly (i)

(4) (i) and (i)

In which one of the following stutes is
Taploca grown 7

(1) Meghalaya

(2)  Punjab
{3)  Assam
(4) Kerala

T —
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A1,

TrEE) g i i

{A) qg’tﬁ'!ﬂﬂrﬂ?ﬁti

®) wewd I

(C) e 3 eyt & < et e
mﬁﬁﬁm‘mﬁﬁﬂT%I

(D) e VT T SUETT |
femferfiam & s wd £

(1} (B)w1{C)

(2) & (C)

(3} (B) @ (D)

(4} (A) T (B)

Wil wEeE o o T T A,
wT AT Wil T Gge w ahes
weefemt ot € 1 Frefefew & 9

- FH T e A 1
() wfw wqufrEdl el & W
A W AT M e §

(i) = wgufemat & o S wE A
AT

(i) T T ST A R
{iv) gﬁmmﬁﬁqﬁmﬁﬁﬁ#
: i

(0 (i), (i) = (i)

(2) (1), (i, Ciii) == {iv)
(3) o (i)

(4) (i) i)

T rom o s (frten AT
(1) Hawg

(2) e
(3) ¥\
4) =



-1
42, wWhich one of the following can find jts

female partner many kilometres gway
just by her soell 3

i1y Silk-worm
@ Thger

(3 Vulture
(47  Hawk

g3, Rashid took out his pair of spectacles

and blew two-three times on it, The

alass of the spectacles beeame hazy, The

reason could be

(1) Water from his mowh formed a
film on the glass of his spectacles,

(2} The hot air from his mouth

evapornled to form a water {ilm

on the plass of his spectacles.

(33 The hot air from lis mouth
condensed 1o form tiny droplets

on the glass of his spectacles,

(4) The cold air from his mouth
condensed to form tiny droplets

on the glass of his spectacles.

84. The neighbouring states of Gujarat arc

(1) Madhya Pradesh, Rajasthan and
Littar Pradesh

{2) Maharashira, Rajasthan and
Chhattisgarh

(3) Dihar, Rajasthan and Madhya
Pradesh

(4) Rajasthan, Madhya Pradesh and
Maharashira
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85. *Madhubani’ is o traditional art form
mimed after a village in the state of *
(1) Maharmshtm
(2) West Bengal
(3] Orisza
(4)  Bihar
B6. Which ane of the following is a correct
statement ¥
(1} Malaria is caused when o female
mosquito  which has  hitten a
malaria  paticnt, bites  another
person,
{2)  Malaria is caused by a osquito
bite at night time,
(3) Malaria is caused by a maosquito
bite.
(4) Malaria is caused by a female

mosquito bite.

87. Rina stays in Delhi. She wants to visit
her aunt in Gwalior. In which direction

should she travel 7

(1) East

(2) West
{3) South
(4) North
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89

on.

which one of the following is the least
appropriate objceetive of Environmenial
Studies ?

{1y 1o develop awareness of
environmental issues,
(1) 1o ereale. curiosity about socio-

cultural environment

{3} to provide maximum opporiunity
to a child for acquiring skills of
recall and memorization,

{4) to create cognilive capacity in

learmers,

Stories and narratives are used in EVS
textbooks because &

(A)
(B)

thev sensitise children.
children can probably empathise
with characters.

(C) it is the casiest way to learn EVS.

(D) they are free from gender and

cultural bias.
Which one of the following is correct ¥

(13 (D)only
{2) (C)and {A)
(3)  (A)and(B)
(4} (B)only

Which one of the following statcments

about assessment procedures is least

approprinte ?

(1) Self-assessment helps children
understand  the  Dasis of
assessment.

{2) Studemts can be  assessed
individually or in groups.

(3) Assessmenl is not meant lo

compare and rank children.

Assessment should be carried out

{4)
at the end of a term.
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PART -1V

LANGUAGE -1

ENGLISH

-1

IMPORTANT : Candidates should attempt questions from Part — IV (Q. No. 91-120),
if they have opted ENGLISH as LANGUAGE — I only.

Directions :

Read the passage given below
and answer the questions that [ollow
(Q. Nos, 91-99) hy selecting the most
appropriate oplions -

June come and the hay was almost
reitdy Tor cutting. On Midsummer's Eve,
which wus a Sawrday, Mr. Jones went
into Willington and pot so drusk at the
Red Lion that he did not come back till
midday on Sunday. The men had milked
the cows early in the moming and then
had pone out rabbitimg,  without
bothering to feed the animals, When Mr.
Jones got back he immediately went 1o
sleep on the drawing-room sofy with the
News of the World over his face, so that
when evening came the animals were
still unfed. At last they could stand it no
longer. One of the cows broke in the
door of the store-shed with her horn and
all the animals began to help themselves
from the bins.

It was just thes that Mr. Jones
woke up. The next moment he and his
four men were in the store-shed with
whips in their hands, lashing out in all
directions. This was more than the
hungry animals could bear. With one
accord. though nothing of the kind had
been  planned before, they flung
themselves upon their tormentors,
Jones and his men suddenly found
themselves being butted and kicked from
all sides. The situation was quite out of

their control. They had never seen
animals behave like this before, and
this sudden uprising of creatures
frightened them out of their wits.

#1.

92,

They up teying 1o defend
themselves and took to their heels. Soon
all five of them were in full Dight down
the cart-track that led to the main road
in

pave

with the ammals them

irimph,

pursiing

Mrs. Jones looked owt of the
bedroom  window, sww  whal  was
happening. hurdedly flung o few
possessions into @ carpel bag, and
slipped oul of the farm by another way.
Meanwhile the animals had chased Jones
and his men oul imto. the road and
stammed the five-barred gate behind
them. So, almost hefore they knew what
was happening, Jones was expelled and
the Manor farm was theirs.

“The men had milked the cows.”

“Tense’ in the above sentence has been
correctly  changed into  ‘present
perfect” in ;

(1) The men are milking the cows.

(2)  The men will have milked the
COWS,

(3)  The men milked the cows.

{(4)  The men have milked the cows.

In which one of the foltowing

sentences has the ‘question tag® been
correctly nsed ?

(I)  They gave up trying 1o defend
themselves, couldn't they 7

(2) 'They gave up trying to defend
themselves, didn't they 7

{3)  They gave up Irying to defend
themsclves, haven™t they 7

(4)  They pave up trying to defend

themselves, aren’t they 7
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ﬁj, The word “Hung” means the same as -
(1) eovered
(2  ottacked
(3) threw

(#) it

g4, Jones' men didn’t bother to feed the

animals becanse ;

{1} their master had pgone o

Willington,
(2) each thought the other would fecd
them.

(3)  they were angry with their master.

(4) they just forgol 10 do the job

assigned to them.

95, After one of the cows had broken in

the hungry

the door of the store-shed,
animals :

(1) began kicking Johes® men.

(2) started damaging things.

(3) ranout of the s]wd..

(4) started eating the fodder in the

hins.

i
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G, When Jones and hizs men  started

laghing out at the animals, they (the

animals)
(1) staried bellowing agonisingly.

{2y started keking and butting their
LOrIENIRTS.

(M fehlt terrificc.

(4) ranout of the farm houst.

97. For the readers il scene deseribed in

Para-2 is highly :
(1) comic

(2) intriguing
(3) pathetic

(4] oulrageus

of. The ferce attack launched by the

animals shows that £

(n animals are thinking beinys.
(2) injustice leads to rebellion.

(3) anger < o destructive emotion.

(4) animal behaviour 15 unpredictable.

99, The wordiwords which isfare similar
in meaning to ‘imm ediately’ isiare :

(1) slowly
(2) usually
(3) atonce

(4y tardily




Pl

:36: 5 < oF sed in “Aand
!lj'lrirtﬂinm .  Read the esiract given below 102, The literary ﬂ-i"lrlﬂ:. u el
and answer the guestions thar follow singing still dost sOa% "
(). Mos, L00-105) by selecting the most BVEr E_iu_gngt.' s
oo A [y = metaphor
Hail 1o thee. blithe Spirit (@) :asimile
Bird thou never wert, (3) alliteration
That from heaven or near it, {4} & metonymy
poured thy full heart
In profuse strains of unpremeditated ar, 103, The poet calls the bird a ‘hlithe spirit’
because :
Higher still and higher (1) itis a bird of paradise.
From the earth thou springest (2) it is the most beautiful bird.
Like a cloud of fire ; (3) it soars higher and higher in the sky.
The deep blue thou wingest, (4) it represents a cheerful spint.
And singing still dost soar, and soaring
ever singest.
104, The bird’s song seems to come from :
{1} nearthe seas
100, The birds® flight is distinguished by its
(2) heaven
(1} loftiness
’ : (3) atree
{2} jerky motion
(3)  slow motion (4) 2 mountain peak
{4) speed
105. The expression ‘unpremeditated art’
means art which is ¢
101. The figure of speech used in lines 8-9
- (1) natural
(1) asynecdoche
j ¥ (2)  heavenly
(2}  alliteration 7
= (3)  cfiortless
(3) asmmile
(4)  ametaphor (9)  spontaneous
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pirections ¢ Answer the followi
a 11 t“ : :
by selecting  the magy n; q:-lt i
X Propriate

106. Which one of the following is frye r
o

learning to write the letters of English
alphaber 7

(1} Start with a, b, ¢, d (lower case),

(2)  Start with slanting ang standing
lines and then move 1o curves.

(3) Startwith A, B C. D {upper case},

(4)  Start with strokes

107. A child at school pronounces the word
‘polish® as  ‘polis”. Which one of
following is the most likely reason for

this ?

{1}  The child belongs to a rural area.

{(2) The child does not know how to
distinguish between the /sh/ and
/s/ sounds.

(3) The child has a stammering
problem.

(4)  The child speaks in a dialect.

108. Which one of the following is most

important in learning a language ?

(1) Language rich environment
(2) Language class in a school
(3) Textbook

(4) Language lab
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109. Which one of the following is troe

regarding Innpuage learning 7

(1) Language skills should be learmt
as per the
students,

languape level of

(2) Languape skills hinder language

learming.

{3) Language skills are interrelated
with one another.

{4) Lanpuage  skills are  not
interrelated with one another.

110. While teaching in an inclusive
classroom, a language teacher
should :

(1) support them in the leaming

process keeping in mind  the

flexible curriculum.

(2) ask talented siudents 10 handle
them.

(3 ignore  students  with special
needs.

(4) recommend to the Principal to

place them in special schools.

111. Which one of the following is least
important in using mother tongue as
the medium of instruction in school at

primary level ?

(1) Mother tongue yields betier
learning oulcomes.

(2) Transition from mother tongue lo
school language can’t be ensured.

(3) Mother tongue will [facilitate
better classroom transaction.

{4) Mother tongue ensures greater

participation ol learners.



U
112. Which ouc of the following methods

does_not promote the wse of mother
tongue while teaching English 7

(1) Audio Lingual method

(2}  Commumnicative Languige Teaching
(CLT) method

{3)  Grammar Translation method

(4]  Direct method

113. Communicative Competence is (he
alility to :

(1) use language i different situations,
{2} use good pronunciation,

(3)  use language Mluently,

(4)  use grammatically correct English.

114, Plxﬁjlnlngitnl awireness refers to the
ability to !

{1}  write coherently.

{2)  grasp the sound structure.

(3)  speak fluently and aceurntely.
(4)  master the rules of grammar.

I''5. Phonemes are units of :

(1)  soundsofa languape
(2) vowels in a language
(2) alphabet of a Janguage
(4)  pgrommar of a language
116, Mr. Srinivasan’s child is two-vears
old. She scribbles on the wall and
attempts to draw. What can this
activity be called ?
(1) Literacy
(2) Emergent literacy
(3) Free writing
(4)  Thinking to develop writing
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]
ries from children
their skill of :

words  while

I
18)
| 117. Listening 10 .'iru
helps in developing

using difficul!

(1} :
speaking. |

(2)  identifying {he moral message in
the story. |

(3) imaginalion and Expression.

(4) using idioms and metaphors.

assessment by learners helps +

118, Self- ;

(1) them in laying the foundation of g
future teachet.

() them in understanding their
achievement.

(3) them in accepting a lot of
remedial practice.

(4) teachers 1o el scﬁm:.sl‘!ﬂfﬁ {s]
engage themselves in  other
academic tasks.

119, English textbook at primary level
should most importantly focus on :

(1) age and interest of the leamers
and objective of the language.

{2) the strong and proper binding of
book.

(3) autractive cover page and
illustrations,

(4)  grammatical forms.

120. A teacher is teaching grammar to the

class. She cxplains the rules and
definitions and then gives examples.
What is she practising ?

(1) Immersion method
(2)  Incidental method
(3) Inductive method

(4)  Deductive method
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PART - ¥
LANGUAGE -11

ENGLISH

IMPORTANT : Candidates should attempt questions from Part - V (Q. No. 121-150),
if they have opted ENGLISH as LANGUAGE — 11 only.

DHrections :  Read the passige given below
and answer the questions that lollow
(L. Nos. 121-128) by selecting the most

Appropriste options

“If I had what he [or she] has, then I'd
be happy.” We've all had such thoughts. When
I'lived in an apartment and had little money, 1
envied families who had a house and more
maney than . When I bought my first house, 1
envied people who hed bipper and nicer
houses. When | drove & 1961 Studebaker, 1
cnvied those who drove newer and nicer cars.
When 1 was unhappy in my marriage, | envied
friends who had happy marriages. It seemed
that no matter what 1 gained or acquired, there
were alwavs others | envied. 1 became a

multimillionaire with a job that I loved and a
family that 1 adored, yet there were times |
found myself envying a high-schéml classmate
who became a famous Director and billionaire.
Then one day I reread Solomon's words on
envy. He said envy was more destructive than
anger, It is impossible to be happy and envious

at the same time. [ either had to find a.way

to deal with my envy,or | would never be
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consistently happy. Why 7 Envy takes your
eyes off what you have and focuses your
altention on what you don 't have. It reflects an
attitude of arrogance and entitlement. When
you are envious, misery and ultimately
depression reign supreme.

The sceds of envy reside in everyone's
heart and mind. They need to be deall with
daily. Martin Luther once said, “You can’t stop
a bird from landing on your head, but you can
stop him from building a nest on it We
cannot prevent eavious thoughts from entering
our hearts, but we can keep them from taking
o, And the antidote is gratefulness,
Gratefulness literally means to be full of
gratitude. When your heart is full of gratitude,

there is no room for envy to grow.

121, The word which is opposite in
meaning to ‘arrogance’ is :

(1} generosity

(2} kindness
(3}  Thumility
{4) courtesy
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123.

124,

L .
j22. Io which ome of the following

gentences has the ‘questi
question tag' been

correctly used ?

(1) The sceds of envy reside in every
heart, haven't they 7

(2) The seeds of envy reside in every
heart, didn"t they ? '

(3) The seeds of envy reside in every
heart. aren’t they 7

(4) The seeds of envy reside in cvery

heart, don't they ?

“We cannot prevent envious thoughts ....°

“wWoice' in the above sentence has been

correctly changed in :

(1) Envious thoughts may not be
prevented by us,

(2) Enwvious thoughts cannot  be
prevented by us.

(3) Envious thoughts could not be
prevented by us.

(4) Envious. thoughts are  mol
prevented by us.

The secret of being consistently happy

lies im &

(1) auItivaljing good habits.

(2) curting one's desires.

Jeading a simple life.

(3)

(4) overcoming envy:

ocdnnea py vdamoscdnner

(45)

125.

126.

127.

128.

u
Envy focuses our attention on what :

(13 we have.

(2)  we don’t have.
(3) others have.

(4) others don't have.

The statement, “The seeds of envy

reside in everyone's heart’ means that

ENVY &

(1) isuniversal.

(2y s eolf-destructive.

{3} robsus of our hapmness.
(4) isadangerous emotion.

The antidote to envy is

(1) gratclulness
(2} faithfulness
(3) love

(4) freedom

The word ‘consistently’ most nearly

means :
(1y  confidently
() firmly

(3 doubtlessly
(4) regularly



| X
“5) i ilable o man;
:;I[“‘““““ Read the passage given below religious discourses make availa ¥

gl answer the . questions that  fallow
(Q. Mos. 129-135) by sclecling the most

appropriate oplions ;
X dloud some verses everyday at the time of

Hindus. In his last days he hegan rending the
Gita at the instance of a leamed Brahman

friend of the family, and he used lo repeat

My father was & lover of his clan, worship.

truthful, brave and gencrous, but shor-
tempered, To a cerain extent he might have

* t nearl
been even given to plensures. Bul he was 129. The word ‘adamanl’ mo¥ ¥

incorruptible, and had eamed a name for siricl o )
; T T : . (1) saggressive
mmpartiality in his family as well g5 outside.
_ (2) determined
His loyalty to the stme was well known, A
: 3 rugeed
Political Apent spoke insultingly of his chief, &) i
(4) angry

and he stood up to the insult, The Agent was
angry and asked him lo apologize. This he
refused to do and was therefore kept under

130, ‘His loyalty to the state was well

known.'
detention for a few hours. But when the Agent e i Ao bin b e i
saw that he was adamant, he ordered him to be correctly changed into ‘past perfect’
released. in:
My father never had any ambition to (1) His loyalty to the state is well

known.

{2} His loyalty to the state will have
been well known.

accumuiate riches, and lefi us wvery litile

property.

He had no education, save that of
(3)  His loyalty to the state had been

experience. At best, he might be said to have Ty
read up to the fifth standard, Of history and @) B loyaliy 16 the state hag VI
geography he was innocent, But his rich well known,

experience of practical affairs stood him in

good stead in the solution of the most intricate 131. 'The word which is similar in meaning
questions and in managing hundreds of men, to ‘learned’ is :
Of religious training he had very little, but he (1) shrewd
had that kind of religious culture which (2)  alen

(3) clever

frequent wvisits to temples and listening to
(4)  scholarly
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133.

134,
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The author praises his father fop 1
L

(1) inm:uTLlpI!il:‘nilH:.r and i!ﬂﬂul‘li"ﬂily
{2} outspokenness and i111pani11ity
(3)  leaming and im partiality,

(4} patience and jnunlmplihilit}'

When the anthor's father refyseq i
apologize to the Politicy) Agent he was ;

(1) heaten
{2y detained
(3} humiliated

(4)  heavily fined

Though uneducated, the author's
father could solve complex problems

because he had :

(1) ample experience of practical

affairs.
(2)  strong support of his pairons,

(3) a decp understanding of human

nature.

(4)  acharismatic personality.

He acquired religious culture :

(1) by making donations.

(2) through the grace of spiritual
teachers.

(3)  through service to the poor.

(4) by listening (o sermons in

temples.

"I.

(47)

L
Directions : Answer the following questions

by selecting the most appropriate options :

136, Which one of the following tasks in a
language elassroom promotes a child’s
active participation ?

{1} children memorising the meanings
of difficult words from o text.

(2} children practising the correct
pronunciation of words in chorus,

(3) - children carefully writing down
the answers from the black-board.

(4) children working in groups and

preparing for a role play.

137. Error analysis should be earried out
by a language teacher to :
(1) ‘scold students for repeating the
mistakes again and again.

{2} inform parents that their wards are

not paying attention in the class.

{3}  find out the errors of leamers and
ask them to write cach emor ten

times.,

(4) gain  information on  common
difficultics of leamers in lanruage

learnimg.

138. Im second language learning, children
reguire *comprehensible input* which

means moving from

(1) wholeto pan.

{(2)  part to whole.

(3}  meaning to strocture,

(4}  structure to meaning.



u

139, A% o lampuage tescher your most

huportont role is :

(N w

texthook motime,

complete. the  preseribed

(2} o et the stidems seeune ok
marks,

(3} tocomplete the syllabus in time.

(4) 1o develop the ability of children

Lo use [amguagee,

0. Langunge games are  effective in

learning language beeanse

(1) they allow students o practise
lamruare skills.

(2  active students  will positively
participale in such activities.

(3)  they save time and energy of
leachers.

(4)  they are not very expensive.

141. A teacher of class V is maotivating
students to read books other than the
pn;cs-crihed texthook because she wants
to create intercest in them for :

(1)

writing stories and novels.

(2) reading to enhance their extensive
reading skill,

(3)  different penres to enhance their
general knowledge,

{(4) wvarious authors to see them as

budding authors,
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142

143,

144,

Py

figat: chitdven lesrn language as ,

clian o their parent's
reactio

inforcement, 19 suggested by whicy
re _
(heory of language development ?
() fnnatist
(2) {:ansmncﬁuisl
{3) Behaviourist
(4y Copnitive

In a constructivist classroom languag,

learning would most importantly he

based on :

(1)  detailed assessment of individyg)
task.

{2) students’ pmvinus-knuwtmige_

(3) careful teaching of the textbook,

{4y moving from simple to difficuly

grammar rules.

As per Official Language Act, 1963
which Article of Indian Constitution
gives English the status of Associate

Official language ?
(1) Article 345
(2)  Article 347
(3)  Anicle 341
(4)  Article 343
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145. Rajesh, a teacher gf clissy (4%

. L
W "
organised an intra ¢y " L8, A teacher of class VI asks students to
55 i}xtum-p“m .
e write an article on *Pollation in our
eech competit : :
:Fﬂﬂwinﬂ Pp o e i Cities”. She asked students o
0 arameters
is least brainstorm ideas on pollution in cities,

important in asses

imp ssing extempore ? organise them, drafl, edit and revise

(1) Accuracy and fMuency their article before submitting it. She
is focussi of writing.

e ::: }u ulssm;g, o1 h 0 B

H:I'llLl ﬁr.l‘]_ll"f]:ll:
(3) Conhdence of a chilg {2}  output approach
(4) Personality of a chiild {(3) product approach

(4)  process approach

46, The study of ‘*chunkﬁ of language’ 149, Rubric in assessment is a :

which are bigger than a single i e 5t11¢tgt=ta‘ s
sentence is : background and abilities.

(2)  sort of learning difficulty faced by
(1) Discourse a child.
(2) Morphology _ (3) set of fill in the blanks having

every 37" word as a blank.

B S (4) set of puidelines for measuring
(4) ngﬁcg leamiers” achigvemenls.

150. Which one of the following is most
147. Writing a personal response to a

important in helping learners with
literary text can be the most effective learning difficulties ?
way for learners to enhance their : (1) The teacher should provide home
y s tuitions to such leamers.

(1) eflectiveand Ml (2) The teacher should ignore such

(2) grades in the formative learners.
(3) The teacher should give a lot of
ment.
s correction work 1o be completed
(3)  ability to write a story of novel. at home by the leamers.
(4)  The teacher should design various
(4) understanding of the author’s life learning  activities  in @
sketch. meaningful/real life situation.
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